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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

86- She learned to speak .................... when she lived in Stockholm.
1) a Swedish 2) Swedish 3) in Swedish 4) the Swedish
87- He changed the oil, checked the tire pressure, .................... the tank with gas.
1) and filled 2) meanwhile filling
3) that fills 4) then filling
88- So0..icccvrenrrennnen that we had to ask a police officer for directions.
1) that the map was confusing 2) that confusing was the map
3) confusing the map that was 4) confusing was the map
89- e in 1693, the College of William and Mary is the second oldest college in
the United States.
1) When founded 2) That it was founded

3) Founded 4) Being founded
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90-

91-

92-

93-

94-

9§-

In 1880 a German chemist proposed that an acid .................... as a compound that,
when dissolved in water, produces many hydrogen or protons.

1) be defined 2) detined

3) is defined 4) to be defined

Running a kitchen .................... a great deal of discipline and speed.

1) expects 2) involves 3) obtains 4) spreads
.................... effects to smoking are lung cancer and an increased risk of heart
attacks.

1) Vital 2) Divisive 3) Affective 4) Adverse

Recent research has shown that regular exercise and a healthy lifestyle can

INCreaSEe ..oveeeeerreerennnes .

1) amenity 2) hypertension 3) longevity 4) malfunction
People feel threatened when decision-making is .......ccceeuvenee and arbitrary.

1) inconsistent 2) effective 3) impartial 4) tranquil

No job can be interesting all the time. Boredom is .................... in any kind of work.
1) vague 2) critical 3) brutal 4) inherent

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

96-

97-

The atmosphere, a thin shell of gas, serves to moderate the extremes of heat and
cold on the Earth. During the day as the heat of the sun penetrates the air and
warms the Earth, the atmosphere traps this heat so that it escapes more slowly into
space, making the night warmer than it would be without this effect. The
atmosphere also protects the Earth's inhabitants to some extent from meteor
particles, cosmic rays, radiation from the sun and stars, atmospheric dust, and
other hazards. The atmosphere is in constant motion due to the Earth's rotation
and changes in temperature and pressure. The sometimes violent changes that
take place in the atmosphere are experienced on Earth as weather, wind, ocean
currents, lightning, and rainbows. Large masses of air moving above the Earth's
surface can cause changes in weather and produce winds with speeds of over 100
miles per hour (160 kilometers per hour).

According to the passage, the shell of gas surrounding the Earth ....................
1) is not thick enough to prevent the extremes of heat and cold on the Earth
2) is sometimes extremely hot and sometimes extremely cold

3) plays a positive role in protecting life on Earth

4) penetrates the air and makes the night warmer

The word “it” in line 4 refers to ....................
1) the night 2) the Earth
3) the atmosphere 4) the heat of the sun



1Y axao (Bee 05) D 09 )5 = gog0s u,.o)T

98- Which of the following is NOT mentioned in the passage as a hazard for the

99-

Earth’s inhabitants?

1) Cosmic rays

2) Meteor particles

3) Radiation from the sun and stars

4) Violent changes that take place in the atmosphere

Why does the author mentions “the Earth’s rotation” in line 7?

1) To describe the Earth’s constant movement

2) To explain why the atmosphere in not still

3) To account for changes in atmospheric temperature and pressure

4) To mention the Earth’s mechanism to withstand outer space pressure

100- Which of the following best represents the writer’s attitude towards the topic of the

passage?

1) Ambivalence 2) Objectivity 3) Curiosity 4) Concern
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